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9.�Kµe�5�§|

{
x1 + 2x2 + ax3 = 1

x1 + 4x2 + a2x3 = 0
��§

x1 + 2x2 + x3 = a− 1

(1)k���ú�)§Ka÷v¶(2)vkú�)§Ka÷v.

) (1)a 6= 1¶(2)a = 1.

ndµéá�§|


x1 + 2x2 + ax3 = 1

x1 + 4x2 + a2x3 = 0

x1 + 2x2 + x3 = a− 1

§�§|�O

2Ý
 A =

1 2 a 1

1 4 a2 0

1 2 1 a− 1

 111(−1)�\�121

−→
111(−1)�\�1311 2 a 1

0 2 a2 − a −1
0 0 1− a a− 2
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(1)k���ú�)§KAkn�Ì��~ê�ÃÌ�§

1− a 6= 0§a 6= 1¶

(2)vkú�)§~ê�kÌ�§1− a = 0, a− 2 6= 0§

a = 1.

10.�Kµe�5�§|

{
x1 + x2 + x3 + x4 = 1

x2 + 2x3 + 3x4 = 2
��§|{

x1 + 2x2 + 3x3 + 4x4 = a

x1 − x3 + bx4 = −1
Ó)§Ka+ b =

) 1

ndµÏ�

{
x1 + x2 + x3 + x4 = 1

x2 + 2x3 + 3x4 = 2
�{

x1 + 2x2 + 3x3 + 4x4 = a

x1 − x3 + bx4 = −1
Ó)§
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¤±
x1 + x2 + x3 + x4 = 1

x2 + 2x3 + 3x4 = 2

x1 + 2x2 + 3x3 + 4x4 = a

x1 − x3 + bx4 = −1

�

{
x1 + x2 + x3 + x4 = 1

x2 + 2x3 + 3x4 = 2
Ó

)§¤±�§|�O2Ý
 A =


1 1 1 1 1

0 1 2 3 2

1 2 3 4 a

1 0 −1 b −1

²LÐ�

1C��±z�


1 1 1 1 1

0 1 2 3 2

0 0 0 0 0

0 0 0 0 0


w+ �5�êgÿK1�ÙJ:)�



11! 12! 13!

gÿK1�ÙJ:)�


 A

111(−1)�\�131

−→
111(−1)�\�141


1 1 1 1 1

0 1 2 3 2

0 1 2 3 a− 1

0 −1 −2 b− 1 −2



121(−1)�\�131

−→
121\�141


1 1 1 1 1

0 1 2 3 2

0 0 0 0 a− 3
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